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9.

FARESRNEE - BRIR T4

B BIFEE =) :
EFERR T SRR F - (BE=S)
1.
2

EFTENTEHRMESRERET - 98 BB PUBEIEEEEEEE -
Suppose that the probability of rain on a given day is 0.1 and the probability of my
having a car accident is 0.005 on any day and 0.012 on a rainy day. The probability

that on a given day it will rain and [ will have a car accident is 0.0012.
Suppose the unemployment rate in the United States goes from 6.4% in one year

to 5.6% in the next. The percentage change in the unemployment rate is -0.8.

EFTRATR > FEZTENT  EIEEEERE > VT —ERZ -

5. BENMRERSE - BIT9%< <3 -

PR - P - REEFEERZOIE -SSR HEE - P
BB B TP AL BRI R & - ‘
If X and Y are two independent random variables, then Var(Y|X) = Var(Y) and
E(Y]X) = E(Y) and Cov(X,Y ) = 0.

R Xﬂ'ﬁﬁgﬁﬁﬁﬂ%%ﬁ ORI P98 4 BY 95%(SEER - i
BEARR 100 B9—8EEA - 15 X =2 S§ =25 » Al 4 1Y 95%(S3EIERT = (1.02 »
2.98) - FH e LAERIERI (1. 02 2.98)8 S HEIHEERR 0.95 ¢

{EFA R ] R BT R B AR o P (5 AR /K SR R N 5 D »

10. 35 Zy, Zy SYFIRE X,V UL XY VAERIGEESR 2, Z, BORERH (S -

i - LS
REAERE TR AENEREE=S - RREFEIERE):
1. Contingency table

2. Coefficient of variation
3. Heteroscedasticity

4. Longitudinal data

5.
6
7
8
9

Standard error

. Spurious association
. Binomial distribution
. Regression sum of squares

p-value

10. The power of a hypothesis test

AEE
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A% 33 w33
#HE e £ JHEx% 2 R

2 - FEEEEE+)
— ~ LU RF A ERE T IEER 73 ffr(regression analysis) it 2HAVEER

regress educyr feducyr meducyr cage

Source 1 df NS Number of obs = 1516

) F( 3, 1912) = 711,15

Model 19749.8462 3 6583.28206 Prob > F = ©.0800

Residual 17699.7629 1912 9,25719817 R-squared = 8.5274

Adj R-squared = @.5266

Total 37449.60891 1915 19.5559316 Root MSE = 3.0426

educyr Coef.  Std. Err. £ eyt [95% Conf. Interval]

feducyr .3889197  .@221849 13.92 0.880 2654105 .3524289

meducyr .845937  .8247257 1.86 ©.863 -.8825551 9944292

cage -.1184553  .0@55994 -21.15 ©.668 -.1294369  -.1874737

_cons 9.592141  ,14920839 64.29 ©.808 9.299521 9.88476
R R A

educyr = 9.59 + 0.309(feducyr) + 0.045(meducyr) — 0.1185(cage)

H AR educyr B2si BV EFH
HEE R

feducyr = SFREVEE R

meducyr = BRI EY

cage = (REHEMIFE: - RIEZHENTI9ER)

AR EEEES TR R RIE S TR ¢

(1):EFERE F(3,1912) = 71115 BB E - (D)

(2)5EREFE _cons HYfAEL 9.592141 HYE - (H5))

(3)meducyr BY{4BLHY [95% Conf. Interval]BYEZ{& & [-0.0025551, 0.0944292] » iS&
e E BB R E RS R Afa 2 F5Y)

(AMRTEE(EE E‘H?TEM thE] DUS BT RS ER? (L 5T)

TR NRBNA "B SEBALRAE | WEERREEATETY
ffﬂﬁ FRTETRAEEE TFIHRE:

~ J'E@;EJE EHE?
ZEhE MR = Total
B 1,882 80 1,962
£ 1,821 g0 2,011
Total 3,803 170 3,973

BETR
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7k 33 : .

A T 33 ‘
FHB RS | & 2E2% 7 H

(1) SRR RO ()

(2) $ER BB G (S FTA A I B (proportion) &7 (Z43)

(3) WIS AR R IS PR B (odds) B2 (—4)

(4) BERIBAARE R L BB R B ERTBSBEL B (0dds ratio)? (Z4)

(5) SRIRHET - 53 AR B RO A TEE S R R e

GEER(E L)
(6) FEHF TR ERR E BN SRR BRI E S S s EE RS (R
43)

Rl )




